2000|0=130, p=[4.0,6.0]
— 1" KinFit MC

1500 —— 1" KinFit Data

X2 / ndf
Constant
Mean
Sigma

61.74 /22
1868+ 17.7

-0.003787 + 0.000914
0.116 + 0.001

1000

500

0...I...I...I...I...I...I...I...I...I...
-1 .
TOF AT (ns)
- X2 / ndf 415/22
2000 — Constant 1827 £30.1
r Mean 0.01615 + 0.00174
I Sigma 0.1236 + 0.0018

1500

1000

500

-1

TOFAT (ns)

2000 0=130, p:[40,60]

— 1t KinFit MC

— 1t KinFit Data

1500

X2 / ndf 63.5/22
Constant 1868+ 17.6
Mean -0.004915 + 0.000929
Sigma 0.1178 + 0.0009

1000

500

-1 08 -06

2000—

1500

1000

500

TOF AT (ns)
X2 / ndf 54.84 /22
Constant 1800 + 30.3
Mean 0.01532 + 0.00176
Sigma 0.1232 + 0.0018

-1 08 -06

TOFAT (ns)
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